14.09.14
T'ywn yi7 o — 1 nxa'? nnaax 88-112
NDAIT

Jyw 3 ;jnann IR

.TA%72 VIYD [IAWNN ATV JNIn

NIKIIN

100 Zun jirx 22) "7 110 *2nrojmin TN 3"No NITRUN 6 'D v Ny v e
(1007 221y

X7 NN2aNnn X ,NLI'0D NNANN] YNNWNT7 N1 .T271 "21'NAN '9T 72y N7 v e
LD p1am
NANTA [NAn? VIS NIXNIN @
[N2N2 1Y'OI' NITRY 'A101 D'RWI 17'R N'VAN X7 NnTn DA ©
UI7¥) NI'YI INIX AIN9'Y MY NNY¥NN MID'0 NN N7yn P NnTn [nan o

.(OTY "IN X77 ,niyw



‘X 7N
:Nan vownN NX INDIN (‘7 20) .1

(D'voWNN NN'YIN INY'7D VOWN)



nipnyn T,S:V -W narani ,no1o axn Nioprann Vo (m 15) .2
DMK
IM(S) cIm(T) ™8 IM(T +S) < Im(T) DX :PN9N/INDIN - .X

ker(S) c ker(T) ™ ker(T +S) cker(T) ox :pM9n/InDIn A



AcF™ nryian nixnon ma'nn (‘m 15) .3
C(B)< N(A) minoin AB=0 nm  .X

rank(A)sg DInmn A’=0 Dnm A
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w,=(112) v, =(1,2,1)
w, =(2,1,1) v, =(112)
w, =(1,2,a) v, =(2,a,1)
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Tv, =w,
Tv, =w,
Tv, =w,
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N1 U =span {1+ x+X°,x° =11+ x+x*} 1 (m 20) .5

W ={peR,[x]:p@) = p(2)}
U W 11y Tn'i 0'0a INXn X

U+W 1Ay Tnmi 0'oa IN¥xn A
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T(X,Y,z,w)=(Xx+Yy,w,0,z) npnvnn 'nn .2
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